Multiplication et Division par 0,001 (H)

Trouvez chaque produit ou quotient.

8,38 X 0,001 = 8,4+ 0,001 =

7,9 X 0,001 = 8,2x 0,001 =
9,713 X 0,001 = 7,6 X 0,001 =
582 % 0,001 = 6,349 - 0,001 =
7,3 X 0,001 = 1x 0,001 =
7,655 + 0,001 = 7+0,001=
5,5393 + 0,001 = 1,93 x 0,001 =
8,221 + 0,001 = 7,875+ 0,001 =
2,0757 x 0,001 = 3,033 X 0,001 =
7,09 = 0,001 = 1,4084 x 0,001 =
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Multiplication et Division par 0,001 (H) Solutions

Trouvez chaque produit ou quotient.

8,38 x 0,001 =0,00838 8,4+ 0,001 =8400

7,9 x 0,001 =0,0079 8,2 x 0,001 =0,0082

9,713 x 0,001 = 0,009713 7,6 X 0,001 =0,0076

5,82 x 0,001 =0,00582 6,349 + 0,001 = 6 349

7,3 %X 0,001 =0,0073 1x0,001=0,001

7,655 + 0,001 =7 655 7+0,001=7000

5,5393 + 0,001 =5539,3 1,93 x 0,001 = 0,00193
8,221 + 0,001 =8 221 7,875 + 0,001 =7875
2,0757 x 0,001 =0,0020757 3,033 x 0,001 =0,003033
7,09 = 0,001 =7 090 1,4084 x 0,001 = 0,0014084
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